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23:49    expT = 120 s   Kp=nan    moon=0.04
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23:51    expT = 30 s   Kp=nan    moon=0.04
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00:02    expT = 32 s   Kp=nan    moon=0.04
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00:01    expT = 30 s   Kp=nan    moon=0.04
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00:10    expT = 31 s   Kp=nan    moon=0.04
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00:10    expT = 30 s   Kp=nan    moon=0.04
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00:20    expT = 41 s   Kp=nan    moon=0.04
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00:19    expT = 30 s   Kp=nan    moon=0.04
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00:29    expT = 39 s   Kp=nan    moon=0.04
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00:28    expT = 30 s   Kp=nan    moon=0.04
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00:39    expT = 40 s   Kp=nan    moon=0.04
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00:38    expT = 30 s   Kp=nan    moon=0.04
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00:48    expT = 40 s   Kp=nan    moon=0.04
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00:48    expT = 30 s   Kp=nan    moon=0.04
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00:58    expT = 38 s   Kp=nan    moon=0.04
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00:57    expT = 30 s   Kp=nan    moon=0.04
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01:08    expT = 44 s   Kp=nan    moon=0.04
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01:07    expT = 30 s   Kp=nan    moon=0.04
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01:18    expT = 47 s   Kp=nan    moon=0.04
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01:17    expT = 30 s   Kp=nan    moon=0.04
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01:29    expT = 57 s   Kp=nan    moon=0.04
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01:28    expT = 30 s   Kp=nan    moon=0.04
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01:41    expT = 76 s   Kp=nan    moon=0.04
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01:40    expT = 30 s   Kp=nan    moon=0.04
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01:56    expT = 113 s   Kp=nan    moon=0.04
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01:55    expT = 30 s   Kp=nan    moon=0.04
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02:15    expT = 177 s   Kp=nan    moon=0.04
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02:15    expT = 30 s   Kp=nan    moon=0.04
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02:42    expT = 264 s   Kp=nan    moon=0.04
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02:42    expT = 30 s   Kp=nan    moon=0.04
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03:15    expT = 268 s   Kp=nan    moon=0.04
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03:14    expT = 30 s   Kp=nan    moon=0.04
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03:48    expT = 255 s   Kp=nan    moon=0.04
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03:48    expT = 30 s   Kp=nan    moon=0.04
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04:21    expT = 283 s   Kp=nan    moon=0.04
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04:20    expT = 30 s   Kp=nan    moon=0.04
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04:56    expT = 327 s   Kp=nan    moon=0.05
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04:56    expT = 30 s   Kp=nan    moon=0.05
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05:37    expT = 378 s   Kp=nan    moon=0.05
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05:36    expT = 30 s   Kp=nan    moon=0.05
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06:21    expT = 412 s   Kp=nan    moon=0.05
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07:07    expT = 415 s   Kp=nan    moon=0.05
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07:07    expT = 30 s   Kp=nan    moon=0.05

0 100 200 300 400 500
445.0
445.5
446.0
446.5
447.0
447.5
448.0
448.5
449.0
449.5

07:54    expT = 391 s   Kp=nan    moon=0.05
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07:53    expT = 30 s   Kp=nan    moon=0.05
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08:32    expT = 225 s   Kp=nan    moon=0.05
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08:31    expT = 30 s   Kp=nan    moon=0.05
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08:56    expT = 147 s   Kp=nan    moon=0.05
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08:55    expT = 30 s   Kp=nan    moon=0.05
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09:15    expT = 133 s   Kp=nan    moon=0.05
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09:14    expT = 30 s   Kp=nan    moon=0.05

0 100 200 300 400 500
439.5
440.0
440.5
441.0
441.5
442.0
442.5

09:34    expT = 143 s   Kp=nan    moon=0.05
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09:33    expT = 30 s   Kp=nan    moon=0.05
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09:54    expT = 162 s   Kp=nan    moon=0.05
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10:15    expT = 147 s   Kp=nan    moon=0.06
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10:34    expT = 118 s   Kp=nan    moon=0.06
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10:33    expT = 30 s   Kp=nan    moon=0.06
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10:49    expT = 76 s   Kp=nan    moon=0.06
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10:48    expT = 30 s   Kp=nan    moon=0.06


